Al (3x—2y-1) — (x =3y —4) & 7tds] o}H?

@ 2x-3y-5 @ 2x-2y-5 @ 2x-2y+4
(@)2x+y+3 ® 2x+2y+3




2. ol Ao 20238 wolo} & A el EISHAEI 207+ 5x
7 =giek. vhaA Astg vl e

@ 2x2 -3x @ 2x% - 5x ® 6x2 + bx

®)6x% + 11x ® 6x% - 15x

old A& Azt shd

A+ (—2x? — 3x) = 2x* + bx

A = (2x% 4 5x) — (—2x? — 3x) = 4x* + 8x

wheba] HEE A ALSHAE (4x° + 8x) — (-24% - 3x) =
6x2 + 11x°|th




3. a(y+3x)—y(2r+1) =20 —xy—4) & VD3] kS W, 7 o] A2}

X O AlS L ay S AlS
L 1l+1=2




—(=15ab — 9ac) + (—3a) & 71H5] 5HH?

@ —5a-3c @ 5b+ 3¢

@_5b - 3c @ -5b+ 3¢
® —-45a2b + 27a%c

(15ab + 9ac) + (—3a)
= 15ab + (-3a) + 9ac + (-3a)
= -5b-3c




Sxrr o - (30 1) T8 nue s

3 2y
3 3
@5352 + xy @) 5)62 - Xy
3 3
@ §x2—17xy @ §x2+9xy—8y

3
® §x2+9xy—4y

2y
=—x2+9 8x_2yx§
S 2 3 X




6. (2¢*-5a%-a')+a®-3(-7a® +4a* - 2a°) + a® S 7F

@ 5a* +17a + 23 @)5a* - 17a + 23
® -5a* +17a + 23 @ 5a* - 17a-23

® -5a%*-17a+ 23

~&B

(2a® - 5a® — a*) + a® = 3(-7a® + 4a* — 2a°) +
= (2-5a-ad?) - 3(-7+ 4a — 2a?)
=2-5a—a®+21 - 12a + 6a*
=5a® - 17a + 23

a3




© x-3

® bx—-4>1

© x-1<5

® (3a-5)x2=5

va.0 2066 006 @Dee 6606
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T FoA 7P A2 el

8. ¢
%

® 10 @ 12 ®)15

~&B

ofH A4 x
dx+ 15 > 72
4x > 72 -15

4x > 57

' 4




REA - 3(x-2) > 2(x - 3) & BEE ALY ASE?

1 @274 @3H @4

® 574

B

x—=3(x=2)>2(x-3)
x—3x+6>2x—-6
—4x > -12

x<3

watA BEsls FA4E 1, 2 9 2 Aol




10.

A (4a+b-1)-(-a+3b-4) 5 7F

® 3a+4b-5 @ 3a+2b-3

@ 5a+2b+3 @5a—2b+3

® 5a-2b-3

(da+b-1)—(-a+3b-4)
=4da+b-1+a-3b+4
=ba—-2b+3




@ (1-3x+2x?)-2(x%2-4x+1)

1
@ (5x2—|—x—1> - (—1—4x+%x2>

1
@ 7—X+1
X

@x(4x -2)+5

® 4x% - bx —4x2

B

@ (1-3x+2x%)-2(x%—4x+1)
=1-3x+2x2-2x2+8x-2
=5x—1
= A4S ot o|ago] AAH T

®<x+x—> (1 4x + x)

1
:5x +x— 1+1+4x—3x

= 5x

 ojzfapo] e 9o Bz o|2h4jo] ohirh
@ x(4x-2) +5 =4x> - 2x +5 = o|x}Ao|t},
® 4x% — 5x — 4x®> = —5x

= A4S 5HH o]afgto] AAHT




<3

_Z'\__
A o, A+ B+ C 9 = fotofet.

>
> =g -3

~&B

A, B, C °f thoto] —(2x2 + 7x) + (x? +9x - 4)

=Ax2+Bx+C

—(2x% 4 7x) + (x* + 9x — 4)
=-2x-Tx+x>+9x-4
=-x>+2x-4

watd A=-1, B=2, C=-40]2&
A+B+C=(-1)+2+(-4)=-3

=, Ax? + Bx+ C = —x? + 2x — 4 °|t},




@(3 —3x—6x%) - 3(2x + 2x - 3)
@ <—§x2 +3x— 4) - (—5 - 6x — §x2>
® -2x%(1-x)

~&B

OX]

@ 8 + 4x% (°]AHA])

® 12 - 9x — 12x% (°]A}A])
@ 9x+ 1 (27H4)

® —2x% 4 2x° (AAHA)




14. 11a®> —a—4 oA o]\ 212 M Z-2 71 o]H 20X 5a% + 9a - 6 &
A3t Avprp gk gk ofE Al S ?
DO -4a>+8a+5 @ 8a?-4a+5 ® —8a%+4a-5

@ 4a®>+8a-5 @8a2+4a—5

B

o™ A3 A 2t StH

11a®-a-4-A=A- (54> + 9a - 6)

24 = 11a® —a -4+ 54a% + 9a — 6 = 1642 + 8a — 10
A=8da%>+4a-5




~[ax-2y - {x- (3x+[__])} + 5]
=—{ax-2y- (x=3x-[_]) +5y}
=—{ax-2y- (-2x-[__]) + 5}
= (4x-2y+2x+[_]+5y)

= (6x+3y+[_])
—6x—3y—[ |

—6x— Ty
|:|:—6x—3y+6x+7y=4y




16. e AL 7t

A=l ﬂfﬂ
4a—{2b a+ (b- +3a}
D 2a+b @ 4da+2b
@ 2a-2b ® a+3b

@4{1 -3b

4a—{2b-a+ (b-2a) + 3a}
=4a—-(2b-a+b-2a+3a)
=4a-3b




17. (15xy — 2x3y — 5xy2) = lexy £ 716 & o,
Al4=9] o2 F5holzt.

Ct -
[= ]

[ 2
> ™. 32

B

1
(15xy — 2x3y — 5xy?) + R
= (15xy — 2x%y — bry?) + =

= (15xy — 2x3y — 5xy?) x —

xy
= 60 — 8x% — 20y

x* O Al =8, y o] Al 20, &

2~
e

o
N o
S




18. thg BIolA AAREAS B Fajola,

H7]
@ 3x>-3 © 5x* <2
©® -x+1<2x-4 ® x>0
® 3x+2<5 @ 3x+12>3x-5

iy

it

0
it

v v v Vv v viVvy
0
iy

0z
il
O ®@ 0O O

0
o

~&B

AAREAL FUYPL 1] x o] A7} 1 9 AL Frk,
@ 3x>-3
3x+3>0

©5x2-2<0

x O] Ap4=7} 2 Z}oltt,

© -x+1<2x-4
—x—2x+1+4<0
-3x+5<0

@3x+2<5

3x-3<0

® 3x-3x+5+1>0
6>0

Qztglo] AAE B R Ax}HEAlo] ot}




@ 2-3x>-7

@ x-3>0

®

‘ Dx>23,@0x23,032x,®Dx>3, ®x>3

® 2(x+1)=8

x+4<25

1
2

@ x>3




3 3 }
o2 % 3 - 0.4x> 0.6 + gx o] F|7 L& ALY

@or @09 @10 @12 615

1 3171 §1s el 10 & &35 15 — 4x > 6 + 6x

il

o1& A5t 10> -9 oIk, HehA x < oL ol o]
< 0.9 °|t}. x = 0.9 Hr} Zrotof st .7




21. FESA 2x<x-a, 05(x+7) <59 slI7} A2 TS wf, A a9

e Ffolet
=

| 2
> ™E: -3

S5 ~
2x < x—a°lX x < -a

0.5(x +7) <514 5x + 35 < 50, 5x < 15

Lx<3

_E,_ HCM_J OH7]. /R—]E Zroog

-a=3

Sa=-3




22,

2 6 -
U2 O o) gt a(e— ) > 5x-239)

S5k g 1, a©) ke Fofelel,

4(x-5) > 5x—23
4x — 20 > 5x — 23
—x> -3
x<3

» B}
ax;— - 6;’694 gl 122 FshH
60 — 3(ax +2) > 4(6 + x)
60 — 3ax — 6 > 24 + 4x
4x 4 3ax < 30
(3a+4)x <30

5—

S 3540 Sk AR ZODE datd > 0012 Fex<
30

3a+4

3a+4=10




23.

HEXNGr-2x<T-5x 2 S| ZF /M E 57124
T-stoet,
=13

=t
[= ]

>
>

0

| =

o, =

a®l g

B




34 2x

0.2 <0.3(x+6) 2 TES1= x 9 g FolA 7 2 ASE
e
B

>
|> HMerr o6

od =

B ,
Rl 20%{1’—6&@

5(3+2x)—4<6(x+
10x + 11 < 6x + 36
4x < 25

x < 6.25
Wb b 2 A% x o] gL 6 o]tk




12,

1 & WEsh= x 9 7

® o0

FAA g 2 A5

®-:

—Tx>7

>1, 4(2x-1) -

Lx< -1

3(5x—3) > 12,

- Tx+5>




